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Low Pass X

~ B
C Model LowPass X (User)
C Equation A/(1+(2*pi*x*tau)"2)
N Plot X-Vrms
A 99.82572 + 0.03627
L tau -5.25377E-5 + 5.64586E-8
[ Reduced Chi-Sqr 0.01039
C R-Square(COD) 0.99999
C Adj. R-Square 0.99999
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Y (V)

Low Pass Y

B Model LowPass_Y (User)
- : e 25pin;
| Equation y=-A*gtau/(1+(g*tau)'2)
Plot Y-Vrms
i A 99.95588 + 0.02612
i tau 5.23355E-5 £ 2.2323E-8
B Reduced Chi-Sqr 0.00124
I~ R-Square(COD) 1
- Adj. R-Square 0.99999
L1 11 [ L L1 11 [ [ [ [ L1 11 L | |
10° 10° 10 10




R (V)

100

50

Low Pass modulus

R Model LowPass modulus (User)
Equation A/sqri(1+H2*pi*x*tau)"2)
Plot Magnitude

R A 99.79842 + 0.00271
tau -5.2354E-5 + 4.84454E-9

B Reduced Chi-Sqr 6.45287E-5

o R-Square(COD) 1
Adj. R-Square 1
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O (degrees)

Low Pass phase

f (Hz)

N Model LowPass_theta (User)

- Equation -atan(2*pi*x *tau)

C Plot Phase Shift

K tau 5.29494E-5 + 5.02325E-7

o Reduced Chi-Sqr 0.54975

C R-Square(COD) 0.9995

L Adj. R-Square 0.9995 \r
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X (V)
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High Pass X

Model HiPass X (User)
. s=(2*pi*x*tau)"2;

Equation y=A*s/(1+s)
o Plot X-Vrms
C A 95.38716+ 0.02543
N tau 5.25223E-5 + 4.8545E-8
B Reduced Chi-Sqr 0.00663
- R-Square(COD) 1
C Adj. R-Square 1
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High Pass Y

[
Model HiPass Y (User)

Y (V)

Equation Si 2pixtau;
y=A*s/(1+s"2)

Plot Y-Vrms

A 94.22876 + 1.80432

tau 5.40066E-5 + 1.67101E-6

Reduced Chi-Sqr 5.90123

R-Square(COD) 0.97821

Adj. R-Square 0.97737
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R (V)
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High Pass modulus

- Model HiPass_modulus (User)

C . s=2*pi*x*tau;

o Equation y=A*s/sqrt(1+s"2)

[ Plot Magnitude

C A 952787+ 0.01197

u tau 5.24757E-5+ 2.87373E-8

C Reduced Chi-Sqr 0.00167

C R-Square(COD) 1

- Adj. R-Square 1
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O (degrees)
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High Pass phase

f (Hz)

Model HiPass_theta (User)
Equation atan(1/(2*pi*x*tau))
C Plot Phase Shift
C tau 5.3269E-5 + 9.95146E-7
K Reduced Chi-Sqr 2.13293
o R-Square(COD) 0.99819
C Adj. R-Square 0.99819
R !.‘
[ i 11 [ L b 1 11 [ 1 [ | | L b 1 11
10° 10° 10 10




X (V)

200
180
160
140
120
100

Model RLC X (User)
g=x/f0;
s=(1-g"2);
Equation N=s;
D=s"2+H(g/Q)"2;
y=A*N/D
Plot X-Vrms
A 100.31573 + 0.1979
i) 739.10267 + 0.24341
Q 2.98049 + 0.00779
Reduced Chi-Sqr 0.28388
R-Square(COD) 0.99997
Adj. R-Square 0.99996




Y (V)

RLCY

Model RLC Y (User) [ T
e TR

— LR
y==(A*g/Q)/(s"2H(g/QY2) |

Plot Y-Vrms
A 99.88472 £ 027152 | = i
f0 740.0871 £ 030653  |—
Q 3.00121 + 0.01208 e
Reduced Chi-Sqr 058122 L _ i
R-Square(COD) 099992 i
Adj. R-Square 0991 [
-




R (V)

300

200

100

RLC modulus

Model RLC mod (User)
2=x/10;
s=(1-g°2);
Equation N:ASi‘iitz(iA(;é%i %)Q);
y=N/D
Plot Magnitude
A 100.19098 + 0.17541
f0 740.32203 + 0.33245
Q 2.98288 + 0.00845
Reduced Chi-Sqr 0.29437
R-Square(COD) 0.99997
Adj. R-Square 0.99997
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O (degrees)
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-100

RLC phase

— Model » R'Lcithet.a (Usér) v

| Equation

- Reduced Chi-Sqr

- | Adj. R-Square

g=x/10;
y=-atan(g/(Q*(1-g"2)))

— Plot Phase Shift
o 2.97924 +0.03365

0 739.90446 + 1.08433
0.47836
0.9994
0.99937

R-Square(COD)
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